Announcements:
1. HWA4 due Friday this week

EECS 70A: Network Analysis
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Example Capacitor Problem #2
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Parallel Capacitors
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Serles Ca pautors
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(Students) Find V(t), given that V(t=0) = 5 Volts

Example problem

T3
T
I

=T

V L‘&) = g\/ e—t/SDoox?l '0.6_5’

4
4 Vc,‘V&:,)Q/%C




Inductors
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Series Inductors
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Parallel Inductors
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Example Inductor Problem
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Example Inductor Problem #2

(Students): Find i(t) Vg




Example Inductor Problem #3
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Vr='rR LR circuit
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Example LR problem

(Students) Find V(t), given that V(t=0) = 5 Volts
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Resistor:
Energy lost to heat...

Power
| X V,, = power

Watts [W] = Volt Amp [V-A]

Note: MKSA unit system:
Meters Kilogram Second Amp

Inductor or capacitor:

Energy STORED and can be recovered...
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Energy stored

— I XV, = power
Energy:
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Capacitor stored energy:
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Symbol library
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Symbol library
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